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( PART : B—DESCRIPTIVE )
" ( Marks : 45 )

The figures in the margin indicate full marks
for the questions

1. What do you mean by New Imperialism’?
E Explain the factors responsible for the rise of .

New Imperialism. 2+7=9
Or
Describe the causes of Meiji Restoration and
throw light on its significance. - 7+2=9
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2. Give an account on the Unification of

¥
Germany. . 9 ']
Or
Explain the factors responsible' for the :

- outbreak of Russian Revolution of 1917. 9
3. Describe the causes that led to the F1rst !

World War. : 9

Or

~ Critically evaluate the Treaty of Versailles. 9

4. Briefly explain the rise of Fascism under
Mussolini 'in Italy. | : - 9
- Or
What were the causes of Great Depi'ession. 9

S. Describe the main objective and structure of
UNO.

9 i
Or
Define the term ‘Decolonization’. Explain the
causes responsible for decolonization. 2+7=9
* K K
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HISTORY
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( Modern World )

( PART : A—OBJECTIVE )
( Marks : 25)
The figures in the margin indicate full marks for the questions
SECTION—I
(Marks: 10)

A. Write short notes on the following : 2x5=10
1. Results of First Opium War |

Or

Boxef Rebellion

/445
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2. Liberalism
Or

Reform Acts of 1832
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3. Woodrow Wilson
Or

League of Nations
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4. Hitler
Or

Munich Pact
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S. Two causes of the decline of Imperialism
Or

Rome-Tokyo-Berlin Axis

Ba/His-601/445

Scanned by CamScanner



(6)

SECTION—II
( Marks: 10)

B. Choose the correct answer by putting a Tick (v/) mark
in the brackets provided : 1x10=10

1. The Taiping Rebellion was a conflict between

(@) radical Christian rebels who challenged the

authority of emperors ( )

(b) Britain and China = ( )

(c) Chinese farmers and industrial .
workers ( )

2. Which secret organization led to an uprising in
China known as Boxer Uprising?

(a) Society of the Righteous and Harmonious

Fists ( )
(b) Society of Heroic Fists . ( )
(c) Society of Fists ( )

3. Who adopted the policy of ‘Blood and Iron’ durmg
the course of Unification of Germany?

(a) Napoleon III ( )
(b) Bismarck ( )
(c) Lenin ()
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4. ‘Young Italy’ society was founded by
(@) Mazzini ( )

(b) Garibaldi ()

(c) Cavour  ( )

5. The Triple Entente was formed in between

(a) England, Russia and France ( )

(b) Italy, Germany and Russia ( )

(c) France, England and Italy ()

) 6. The League of Nations was formed after -
3 (a) First World War ( )

F (b) Second World War - ()

3

(c) Balkan Wars ()

7. Which of the following parties came to be known
: as Nazi Party?

(a) Socialist Democratic Party ()

(b) National Socialist German Workers’

Party ()
(c) Socialist Party ()

Ba/His-601/445 o | |

i
Pl _—,l

Scanned by CamScanner




(8)
8. William Kaiser Il was the Emperor of
(@) Italy ( )
(b) Russia _ ( )

(c) Germany ( )

9. The term Cold War was coined by
(a) Bernard Baruch ( )
(b) Roosevelt ( )

(c) Palmer Perkins )

10. When did Japan attack Pearl Harbor?

(@) 24 May, 1942 ()

(b) 7 Deccmbc;.r, 1941 ( )

(c) 17 October, 1938 ( )
Ba/His-601/445

Scanned by CamScanner



(9)

SECTION—III
( Marks: 5)

C. State whether the following statements are True (T)
or False (F) by a Tick (v) mark : 1x5=5

1. Boxer Rebellion is also known as Minyun
Movement.

(T / F)
2. Benito Mussolini wrote Mein Kampf.

(T / F)

3. Liberalism refers to the principles of fraternity.

(T / F)

4. National Socialist German Workers’ Party was
founded by Anton Drexler.

(T / F)
5. Winston Churchill was the President of US during
f World War II.°
| (T / F)
*
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